EARAROBEEIERT — 2 N— IBISH —F

2012%8H26H (H) 3EIHR6H

BElss2%s G3 vo%om (ER) (58 B8 BT
[A&4] 1 7 30,000,000 § ~ 2 3#&:12,000,000 @ . 3 & :7,500,000 @ . 4 7&:4,500,000 @ . 5 7 :3,000,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— BATES 33 _ 4| - REEA (£4)
i lgligl ¥52 1+ o2 u 1(3_3)5 15-15 | 33.4 3 (4f20) %fg—%
kT4 b2 By —a3FyY BB
g 4 o2 | BEBER 1:33.5 -1 [33.7| — 10 | 478 |=/B8F F#)
1Y 2 RARAZA 54.0 FE=) (C1o) |H Ho Y247 Enxk
f:Street Sense B:F+vUTF1—JIRb H—L— - JvIN> - T7— LBERS
NI MAZB= . — — 1EREIEE (FR)
31l | FIrrUT—F B2 s 1(.13/32.>6 5-5 34.2 9 (gg) e
LA k=L B:AFr/NavF Kt B
S ; o2 | ANEBHIR 1:34.0 8-10 342 — 1 478 | MAFKIE (RR)
41817 13 '77."71'1’_’5_\’ 54.0 (2 1/2) (0) AARGF I
RN=YIF14 B FIIANTFAR Y5 4B
_ . AEEE : — — SBAFE (ER)
5012 |#Z77IWTZ v L S 1(/;345; AT Rt ? :1:126) EHEBS
LN=Y774 B:bOEHINTTyHL J=HrTrp—L
S S i o2 | ESEE 1:34.3 14-13 | 34.3| — 12 | 486 |ETEBSE (FR)
67|15 //7-}[/{)1/77# 54.0 (1 1/4) -6) Zch3
L:T7 RIS Y¥<Yy 7R B:ih—<>EY-—7 =i &
> 4 2 | HPBE 1:34.4 13-13 34.4| — 14 476 | KTTIENE ()
7 4|AYIIX b 54.0 (1/2) ) |AKEE™S
LA k=1 B:YLX-U57 K FTULY NS
4 2 | IHERS 1:34.5 17-17 41| — 15 404 | IRARIL ()
Y 6 K 54.0 (3/4) a) |BBEE
RRFAT—IE B:IYRELTF A TR RIXRRY=T7—L
AP i 2 | ENER 1:34.6 18-17  [34.1| — 6 478 | DNBETESL (3578)
9 3 fk—=t>L7Fa 54.0 (1/2) (+6) B4
LA TAT v — BiLT4A427« BRES 4%
-5 i 2 | AEiE 1:34.6 1-1 3.7 — 8 420 |AER— (ER)
10/8|18| T-=>73-Jb 54.0 (F) (o) | EEER
L:TFA4T7L X214 L BE-XFTT—-ILK FRESS
R . N hEEE : = — FEHEA (EXR)
111510 Y239 F>7>Hh— o2 54.0 1;?::‘? e %9 8 (4-5218) EALEE
PV ESTES DI L PR A BRTT— L
Y, st 2 | AHERH 1:34.7 1-11 3.9 — 5 468 | MEBE (RR)
125 9| 2B/ 507 5.0 e | KBS
AR v T4 =T BLTATyvTRT=Y () HAa-KL—Ya>AET7
= 3 s 2 | HE—#H 1:34.8 2-2 356 — 4 436 | @REE (EH)
13 8 I774Fv—23 54.0 (1/2) (-2) HHRF
R:TSvUv84F B:757-TU-X LEHS
S, [© . ek :34. = . — M (ER)
14 12 iy N AR B4 a2 547) 1(73?:? a2 %5 18 :36) bﬁg?ﬂ
R:TITRREFFL BIRMNFYCNR FEENE
N B o2 | EEET 1:34.9 2-2 35.7| — 17 | 456 | KFOER (E#)
1500 5| IFLY b 54.0 (7€) 42 | B IT7—L
RRXATLK B/ TEY b EEEYY ¢ ]
Pl A 4 2 | HHEXH 1:35.0 5-6 35.4| — 16 482 | HEEA (EH)
16/ 7|14 AXEV=TYU T 54.0 (3/4) (c2) | A) EvTLyRT7—L
R:NVY=Zot5T704L BEO-ZANTEYL AW 725
= = KHER :35. — . — HAEM®RE (EH
17 6| 779>T7 IR "2 54.0 1(33/54>1 0 0 ! :;4) RERE=
RiFAIZTF—Z BEYTY - HIMRE Yk
. s = 4 o2 | EHE 1:35.3 15-15  [35.0| — 11 456 | FEEH ()
18[7 (13| 73— >I- 54.0 (1 1/4) 1) | RS
L:a=—/xLLy b B:T-4T4T75 EERNEZ e ]
@ 21 L
£y 46.6-34.6
NaO>a24 L | 12.6-10.8-11.7-11.8-12.0-11.7-10.8-12.1
® I—F—&EBIERL
13—7-
23—7F—
33—+ — 18-(5,8,12) (1,6,14) (2,10,17) (7,9)4,15(13,16) 11,3
Mal=5r= 18-(5,8,12)1(6,14) (2,10)17(7,9) (4,15) (13,16) (3,11)
[ N5
B Oj 16 630M 794K 7-16 4,420 & 4-8 860 &R 1-7-16 92,550/
% B 16 240/ 1-16 2,660 | | B & 7-16 12,380 | | 3EE 16-7-1 471,970
7 840M 1-7 7,740H B H 16-7 21,740H
1 620M

ABICOVWTRDTEEERROODE. TR LIV,




